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(1) v=36km/h=10m/s
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25. (841 fik:

(1) p=p « gh=l.0><103kg/m3><10N/kg><0.08m=800Pa """""""""""""""""" (241
F=pS=800Pax2x TOZME=1 6N eeeveresnserarnteeetieneetiteestieeeerneeeseieeessneaeans (149

(3) &BBERIZBALKHN, V=V=4x10"m’
F =p xgV #=1.0x10°kg/m’*x ION/kgx4x 10 m’=4N ~ +seeeeesmemmenrenceieneenen (249
(4) G 5=F 15+F 5=4NFON=] (N ¢ secceeecesesntecececcsttoscesecntsstcosscstsnatssatcccsnscas 14

G, 10N
#= B = =]Kg  eeeereerereernetntaetnittniiiicitiictittitnttnttetaeainnes (1 6:,\)
g 10N /kg

p H= #®o_ g ; :2.5><103kg/m3 ....................................... (149
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